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Note :— This paper contains fifty (50) multiple-choice questions, each qﬁestion

Y

carrying two (2) marks. Attempt all the questions.
: oy wadwolnl v (W0) egRselld usdl 8. sis wsu A(R) 2
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Give a term for a set of norms commonly accepted, understood and internalized

by a large number of people.

(A Constitution ' (B) Interaction

(C) Institution (D) Aggregate 7
Wizl euotel didl git g otdlal v scrRid se Wulys dlel- Wb
satledl 20 Bl

(A eleRL B) B

(€ ¥ | D) UYRAY
Which ohe is not an-essential feature of a community ?
- (A) Small size ‘ - (B) Residencé -~
(C) Locality - D) Hetero_geneity
[Re-uiell 565 ottt As Ayl 93 casllsan 2l ?

(A) -, s¢ : (B) WA

© [ : . D) uuofdl
Give a term for standards of behaviour :

(A) Value | (B) Culture

(C) Structure , D) Norms
adgisel LSl W2l 2o 2l

A) H& B rgla

(C) RALdA A D) HiWL
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Which one of the following scholars did not consider matenal aspects
in the definition of culture ?

- (A) William Ogburn - (B) Arnold Toynbee
(C) Edward Tylor (D) M. Herskovits |
AAratie s Qg AR vl olRSs WLl ARAHL fla el
@A) [Qdlum 2o B) triles 2luroll
©) Wsas aud @) AN, EAR

Indicate the appropriate sociological concept representing progressive
vertical mobility through achievement.

(A) Status set (B) Status sequence

(C) Status dynamics (D) Role consistency

Rieellativil wiennefl qadl odl Qefl allladt A sladudl wesusy Real
salal

(A) £ AYRY (B) el 54

(©) el AU sel ®) efsill yaolddar

Give a term for a number of roles associated with a single status :
(A) Multiple roles (B) Role-set

(C) Role conflict (D) Role performance

s £ A AsUA 4RSI AHAY N2

(a) oRa st (B) st AHAY

(©) oAt Ay @) 4Mst erasl

According to Parsons, which one of the following designates the ultimate
source of social action in a society :

(A) Norms - | (B) Customs
(C) Values ' (D) Ritual
ULRAAAL HlgAR AL s B - @i wlid saldl
(A) =il B) Ran
(O yed @ R4 R
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10.

Primary. groups are called primary because these groups are :
(A) Universal in character '

(B) Formed with feelings

(C) Exert formative influence on personality

(D) Characterised by cooperation

suels W3 WaHls Dol W2 s3U B 1A 3 2 Al

@A) adlls eu d. ' |

@) awwell sl iy 8. -

(C) ABdcaril 4sdR G2 wadl 2R wd B.

O Assd vuliad 4 8,

Which one of the following is not included in the category of primitive

.tribe in Gujarat ?

(A) Kotwalia (B) Kathodi

(C) Konkani , .(D) Kolgha

sl Pariaiell 20l oAl ARl Sil AW sUML 2udd el
Q) sieauelul B) swisl

© sisell . @) Slam

Which one of the following statements is true ?

(A) Unpaid domestic labour is of enormous significance to an economy

F(B) Organized labour only is signiﬁcant to an economy

(C) Working in industries alone is significant to an economy

(D) Agricultural surplus is not so significant for urban economy
[Fanuil 33; Qe 0y & 7 |

(A) HAARLS Y51 S5 vLAHARAUL VNS Ul $IU B,
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(©) SIuU-UNAL S 533G B o wefonaral W2 Hecg €l B.
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11.

12.

13.

14.

Socio.—II | 6

According to Randall Collins :

(A) Microsociology has no foundation
(B) Macrosociology has microfoundation
(C) Macrosociology has no foundation
(D) Microsociology has foundation

Ivsd sifAmurl HalduLR A

(A) Y& AAARAAL SIS 2R Sl ).
(B) se AMFARAAL Y& LR $1U D.

(C) o8 AAFARAL 53 IR Slddl el
D) UEH WA AR &Y D,

Indicate who has given the idea of middle-range-theory ?

(A) Parsons (B) Durkheim

(C) Johnson . (D) Merton
el Rigla" A QA 9 ) ?

(A) WA B) guldn

(C) A+t D) A

What is the basis of Dahrendorfs conflict theory ?
(A) Property

(B) Authority

(C) Religious fundamentalism

(D) Ownership of the means of production

Bedrsigel A Rigiasl 2R 48 ?
@A) Masq

(B) At

© wBls szl

D) GouenAl aa-t Gu-l ulad

Marx as a theoretician in his approach was

(A) Positivist (B) Idealist

(C) Historical determinist (D) Subjectivist
N5 Rgiadnl a3 dasdl 21000 s4i o ? |

A) dqcuaagl B) uedadl
© laewrlls Ralysudd D) ucioladiel



15.

16.

17.

18.

- According to Merton, latent functions are consequences that are :

(A) unintended but recognized by the actors
(B) intended but not recognized by the actors
(C) unintended and unrecognized by the actors
(D) intended and recognized by the actors
WAt MUt wuse usdl d wRanl 8 ¥

Q) sdln vaal L eflgd

B) salul ael ud vidlsd

(C) sdlal vaal v 2Rdlsd

@) salvl arden v eflgd
“Education and backwardness are 1nverse1y related.” State whether this
statement is a/an :

(A) Theory (B) Research Problem
(C) Empirical study (D) Hypothesis

"Rlerat 2 et ug, RQuld Rani dsuder 8" 2 Qan g 8 ?
@A) Rgia (B) UAWuA U

(C) HlgHAYY AU D) Guseu-l

In quota sampling, the dominant feature is :

(A) Randomly selected respondent

(B) Fixed number of respondents having certain specified characteristics
(C) Select any person you want till a fixed number is achieved
(D) Pick any criteria of choice to study the sample

saiel Reddd wyn aaa @ 7

(&) g A3 waie 52024 Grieicivd

(B) AlssA araellsdizil 4iddl Assl s2del Avaimindl Greidivil

(€) s Alssu Aval Yl G reicizil 1ol 20 i Yl oA dn 4l clcu

D) ude s30a Red- AR A dam A 4 vy 539

The best technique which is cheap and efficient to collect data from
a large number of literate people is : |

(A) Interview (B) Part1c1pant observation _

(C) Questionnaire (D) Case study method

A5 R AvidL BB disi-i vieul UWRA 258l satdl adl x4 gan
Rl v uYd V.

(A) Hausld - B) usewoll [Alaw

(©) ussuadl ’ | D) AAsH A ugl

Socio.—II | T P.T.O.



19.

20.

21

22.

In which of the followinhg studies was participant observation used
heavily ? '

(A) Street Cornery Society

(B) The Elementary Forms of Religious Life

(C) White Collar Crime

(D) The Power Elite

Fi-taiql s 2eaRiHl Aseull RAaaAdl esial éu.zuot QUi i ?

A) 9 P2 si- wwud

®) o 2dAZ) sl viis Ay cmS{s

©) @2 sl 5154

@) @ war udle

Which one of the followmg techniques is not associated with qualitative

research ? ,

(A) Participant observation (B) Oral history

(C) Unstructured interview (D) Structured questionnaire
Rauiall 569 uyBd ARUcs Aatiar A Asoudd, 2l ?

(@) usewll Rlaw B Wi Sl
(O w[d yeausid O) WRxAd us-adl

Which one of the following books is not written by G. S. Ghurye ?
(A) Caste and Race in India (B) Caste in Modern India

(C) Caste, Class and Occupation (D) Caste and Class in India
Fosniofl 5y Yds . 2. g quig el ? |

(A) S1R2 S A O Slesul (B) $wR2 S s Ssul

(C) 5122, SAIA V176 sy AU D) sk 36 seuy S+ SlFsul

No society is ‘Classless’ or ‘unstratified’ is a proposition méde,by :
(A) Coser and Rosenberg (B) Gerth and Mills

(C)- Lipset and Bendix (D) Davis and Moore

AU ALy "Ad@ALIA" Al "B ARl Al 2 [Qae sUR

(A) SiB W Aol B) ad A5 M

©) [Aud2 drs Arglsu | D) SlAu 1 Y
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23.

24.

25.

26.

Who made the following statement ? A
“All civilizations pass through a similar cycle of birth, maturity and
death. The western civilization is now on its decline which is unavoidable.”

(A) Max Muller (B) Oswald Spengler
(C) Vilfredo Pareto - (D) Max Weber
<2 culda [QQN s 54 ?

"Ad AU B, Yol e [Ariial s A vl AsHiYL v B, uBaedl
AUl 89 d-ll wsdlii 8, % elofl asid ax . "

(A) AU YR B) RS AAAR

© [a&saal ®) Asu o

The spread of the elements of outside culture among the tribal society
is known as :

(A) Diffusion (B) Innovation

(C) Progress (D) Integratmn

SRl AL UR-AgRAL cedlidl Fendl ed

(A) MWW | (B) i , -
© wala D) YA |

The basic tenets of cyclical theory represent :

(A) Culture goes through unilinear path

(B) Culture is rooted to the path of birth, growth and decline
(C) Culture goes from simple to complex

(D) Culture goes from homogeneity towards heterogeneity -
AstcHs Rigidrl WLl 4d ] guld 9 7

(A) gl Asvly vy iu .

B) sl o, Qs 2R udi-u il wd 8.

(©) sl Q{Qﬂl?ﬂ 2 wdl WA .

D) sl izl WAl A28 Q8 6.

Measurement is :

(A) Concerned with numbers

(B) Concerned with scales

(C) A transformation of data into categories

(D) Assigning a symbol to each item of information

Hysl A—

(A) Avy WA Aoifd 9.

(B) ¥ A AoiAd V.
© MR Aeflni cead,.
@) R es Al Al 2undl.
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217.

28.

29.

The case study method emphasizes :

(A) Structural factors (B) General patterns

(C) Specific -experiences . (D) Generalized experience
A4 dwd wald well Gu sur 43 8 7? |

@A) oy yRea - (B) AU 20 |

(©) [fre gl | D) AWl geal

In sociological research which one of the following is considered as

"a respondent ?

(A) Household : (B) Corporation
(C) Head of the household D) ‘Vﬂlage
Al Al z{&uﬂvmt Geieldl A 510 8 ?
@A) YR ®) siulRas
(C) ux-ll yru ulsd O) uu
Match the following :
Column I Column II
(a) Goode and Hatt (1) Research Method in Social Relations
(b) Pauline Young (2) Methods in Social Research '
(¢) Jahoda et al (3) Scientific Social Surveys and Research
(d) C. A. Moser (4) Methods in Social Investigations
- Codes : _ , : o
| (@ ® (0 ()]
A @ . 3 (1) 4)
B @ . @ (1) 4)
© 2) 1) 4). (3)
D) (1) @ 4) 3)
A~ AssL ASL. . .
Asst I . AssLII
(@ AS NS s (1) RuA Aas S+ Alud A
b)) Wl 4o (2) AASA O+ Algua IRl
(0 ISt AA Ay (3) WHASLs Alue ud v It
@ .. MR (4) RS S Ala SRS\
Codes : o , : .
(@) (b) © (@)
A) 2) 3) (1) 4)
(B) (3) 2) (1) 4)
© (2) ¢ €Y 3

D) ¢y @ 4 (3
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30.

31. -

32.

33.

Which one of the following statements is correct ?

(A) Pure research is devoid of any practical use.

(B) Applied research is independent of pure research.

(C) Pure research and applied research are inter-related.

(D) Applied research and pure research are not related.
{lAniel 54 Qe 0y o 7

(A) Ye Adhast A A1l Guaiall 4.

(B) aslils dallud 2 Ya Al ada 8.

(€ Yo At w1 Ay dsdlart Asellon wd Aeifd .

(D) adsls Aard 1A Yo A 3 Asoudeal Al

In the election study which one of the following is largely used ?
(A) Attitudinal study (B) Experimental study
(C) Opinion Poll (D) Census |
el vieai Hizl eudl DAl Sl Guulo a8 ?

(A) YdASYSd AU - B) WAl v

©) 2-{lu wid N D) AU |
Which one of the following is the source of reference group behaviour
elaborated by R. K. Merton ? ' ' '
(A) Street Corner Society

(B) The American Soldier

(C) Post-Industrial Society

(D) Social Theory and Social Structure

Fa-iisl 212, 3. #83 Rsuda eof wye adnrl Rigiarl wlid sl & 7
@A) e i AR

B) & AR5 AR

(©) Wi Srsxdlud Aiuudl

D) Aiud U] s LW AR

In the year 1954, which Act was passed ? :

(A) Hindu Marriage Act (B) Sharda Act

(C) Special Marriage Act (D) Child Marriage Act
GLdML 1Yy "I.l. SUL SIUBL WAR SQCU."U e ? |

A) [Sg A Ase (B) WREL N2

(C) NWa A3¥ A2 D) UM @+ IR
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34.

35.

36.

The form of family where a father lives with his married sons and shares

coparcenary rights is known :

(A) Tarawad ‘ (B) Joint family

©) Household ‘ (D) Extended family

g a3 i, (et At 4R el Activl A 2 B A AU €551 ool & A9 %
PRETDRT 3¢ , .

(A) daUs : (B) AYsd g0t

(©) 4R ' - @) [gagda

In a capitalist economy, goods and service are produced with a concern
for :

(A) Immediate requlrements (B) Profit -
(C) Subsistence (D) Common good ‘
yslaigl velyaaiui c&gz»u i, At Geule 3 Feglladsd
A) ald US>l (B) sl
(C) @art wu~ D) A& [Bd
Match the following authors to their contribution :
Column 1 Column II

(@) Davis and Moore (1) Study of Proletariat
(b) Max Weber (2). Functional theory of Stratification
(¢) Ralf Dahrendorf (3) Study of class, status and party »
(d) Karl Marx (4) Study of class conflict in industrial society
Codes :

(@) (b) (© (d)
A) 2) (3) (4) (1)
® © @ o @
(&)} “) (1) 2) (3
(D) (1) (4) 3 2) -
AL Auisia A3l sL00 WA RS

slan 1 - slan 11

(@ SR s Y3 (1) w8l 25 WdlRae
() ASA AGR 2) ssuna QU s WA
© ?RUCS Se+gls (8) w29l s sa, 2 A Wl
@ sdwsu (4) 8l g s sivselse $+ Sesdlua ukundl.
Codes : ; :

(@) (b) - (o) (2))
A) 2 3 4 1)
B) (3) @) (1) . (4)
© 4 € 2 (3)
D) 1 (4) (3) 2)
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37.

38,

39.

40.

The social and cultural conStructibn of differences between males and
females is called :

(A) Race (B) Ethnicity
(C) Gender ' (D) Sex '
Y i 2{l a2 AeUs 2R Airglas [QAglse vied
Aa) el | B) Ael{lA
(©) Qs (¥-s3) ®) Al

In the market economy :

(A) There is a provision of fair price shop by the government
(B) Government intervention is kept to a minimum

(C) Government intervention is kept to a maximum

(D) Commodity markets are only local in- scope

oon3 vyl i

A) U Usd el gsirill e eiu 8,

B) usil el yridy W D,

(©) U1l eviadl] usnd 8 V.

(D) Rq, [Asd $5c @RS A AU D,

In social science research the ability of measure to reproduce findings
of an earlier study is known as :

(A) Validity (B) Reliability

(C) Prediction (D) Exploration

A Retiri-tl ANAHE HOUBHL AOHURIAL AL2ieA yelyledl auat [Qd) Qaé
(A) HMRAG L @) [arqalaydl

(C) sl D) AN

- Which one of the following is the correct statement ?

(A) Socialization is a process which relates to learning during childhood
(B) Learning of roles on occupying a given position is socialization
(C) Socialization ends with attainment of adulthood

(D) Socialization is a process of learning which is life long
QA-unioll sy Qa0 o ?

@A) sl uBu cuaual vl wlut wd Asndd 8.

(B) Asue uind sul wedl -l WA Asoudell ofasinl uig 3 s 8.

(© AHUFSRA AUBd ausiaral ditd 53 d-l Wl Y3 wy 9.

) W59 Lol 3 Al B S ¥ waudd 0d 8.
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41.

42.

43.

44.

45.

What is not the form of resocialization ?

(A) Relearning of values (B) Learning of roles
(C) Vocational training (D) Psycho-therapy
Yel: AHUYSVAL AIUHL AL YHAY Uell ) ?
- A) yediA 53 v B) oBsiA vl
(© cuncudls daiedly D) Hldas Guar vght

Which one of the following co-exists in a mixed economy ?
(A) Socialism and communism '
(B) Feudalism and capitalism

(C) Community ownership and state ownership

(D) Private ownership and public ownership

Fieiniofl 215 st vielearandi g AsiRdea 4pd 9 7

(A) YHSAE A WHAE

B) Anidale A yslas

(C) wyellAs wlasl A upudl wlesl

D) vl Hlesl 21 ndR ufasl

What is involved during the process of experiment ?

(A) Case study , (B) Controlling variables
(€) Theory (D) None of the above .
Conotdl wBa e A wdn wu B 7 y
@A) AuBas dwun B) Fesfla uRacl
©) Rgid - D) Guumidl As ye Al

The process by which each unit of a population is given e_qual chance

to be included in the sample is called :

(A) Purposive (B) Random

(C) Stratified (D) Accidental

FUL AHAAL £35 AsHA [Read-ui 2215 suaatfl ui ds suuadi 202 8 R Q
[Redd g sdau d ?
(A) 8quds (B) Ug%9

(C) A D) 2usals

From the belew mentioned words, indicate the meaning of ‘mean’ :
(A) Middle point (B) Mode

(C) Correlation ; : (D) Average

12 ealden aceiml AL 24 euldl :

(A) e | (B) olgds

(C) usRisigy : D) AR
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46.

47.

48.

49.

50.

The idea of network of social relationships was used in the analysis
of social structure by :

(A) Robert Merton (B) Talcott Parsons
(C) Levy-Strauss (D) S.F. Nadel
-l ol [Qedseni wlys Aol i QA Gualol s4l sdi
&) A HiA | (B) 2asie W
(©€) adl (D) AU, s, usa
- The scholar who studied structural principles of kinship is :
(A) Malinowski (B) Merton A
(C) Durkheim ' (D) Radcliffe Brown
AAYBLAL AUUHS Rugia-il Guaia sl A Qg
A) Alerdiadl (B) i
() gmldw D) ss5ells UG
In the view of Levy-Strauss, what is important in marriage ?
(A) Exchange of sisters (B) Exchange of things
(C) Monetary transactions . (D) Self interest
Adl AL 3 YoreL @Al g 2ol Ciu & ?
(&) od-il AR (B) axii-l RQRHY
(C) -uisly das zas D) idd e

The term ‘life-chances’ used by Max Weber refers to :

(A) The number of years an individual can expect to 11ve at birth
(B) The chances of survival in a game :

(C) The opportunities a person has because of his class situation
(D) The style of life a person leads

AsA Aot A el "l sl well wd D,

A) %3 avid As ABd deal vl @ad Al el

(B) s HUAHL HAG WAL

(© @il Rafan dld ulzdq vadl ds

D) UBd-]l wa- Adl

Protestantism, according to Max Weber, gave rise to :

(A) Capitalism : (B) Spirit of capitalism
(C) Mercantile capitalism (D) Industrial capitalism
Mi2eweaten eld A5 AL Hclld AR Wrl ¥+ 2} ?

A) yslae (B) ySlale-l cuq-i

(€) AulRRs 151% O ilals ydlas.
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